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/************** 01 *************/

#include<stdio.h>

void main()

{
double x, y;
scanf("%1f", &x);
y = x *x;
printf("%g\n", y);

/************** 02 *************/

#include<stdio.h>

void main()

{
double r, s, p;
scanf("%1f", &r);
s =3.14 * r * pr;
p=2%*3.14 * pr;
printf("%g\n%g\n", s, p);

/************** 03 *************/

#include<stdio.h>

void main()

{
double a, b, s, p;
scanf("%1f %1f", &a, &b);
p=2%(a+b);
s =a * b;
printf("%g\n%g\n", s, p);

/************** o4 *************/

#include<stdio.h>
void main()
{
int a, b, c;
double m;
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scanf("%d %d %d", &, &b, &c);
m=(a+b+c)/ 3.0;
printf("%.2f", m);

/************** 05 *************/

#include<stdio.h>

void main()

{
char x;
scanf("%c", &x);
printf("%d\n", x);

/************** 06 *************/

#include<stdio.h>
void main()
{
int x;
scanf("%d", &x);
if(x % 2 == Q)
printf("zoj ast\n");
else
printf("fard ast\n");

/************** 07 *************/

#include<stdio.h>
void main()
{
double a, b, c;
scanf("%1f %1f %1f", &a, &b, &c);
if(a == b & a == ¢)
printf("motasviol azla");
else
if(a==b || a==c || b==c)
printf("motasaviossagheyn");
else
printf("mokhtalefol azla");
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/************** 08 *************/

#tinclude<stdio.h>
void main()

{
double a, b, c, m;
scanf("%1f %1f %1f", &a, &b, &c);
if(a*a == b*b || b*b == a*a + c*c || c*c == a*a + b*b)
m=a*b/ 2;
else
m=a+b+c;
printf("%g\n", m);
}

/************** 09 *************/

#tinclude<stdio.h>
void main()

{

double a, b, c, m;
scanf("%1f %1f %1f", &a, &b, &c);

if(a > b & a > ¢)
printf("%g\n", a);
else
if(b > c)
printf("%g\n", b);
else
printf("%g\n", c);

/************** 10 *************/

#tinclude<stdio.h>
void main()

{

int m;
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scanf("%d", &m);

if(m >= 1 & m <= 6)
printf("31 rooz\n");
else
if(m >= 7 & & m <= 11)
printf("30 rooz\n");
else
if(m == 12)
printf("29 rooz\n");
else
printf("eshtebah");

[RExEEkRkkRkkR* 19 paveshe digar **¥kxkkk/
#tinclude<stdio.h>
void main()

{

int m;
scanf("%d", &m);

switch(m)
{
case 1: case 2: case 3:
case 4: case 5: case 6:
printf("31 rooz\n");
break;

case 7: case 8: case 9:

case 10: case 11:
printf("30 rooz\n");
break;

case 12:
printf("29 rooz\n");
break;

default:
printf("eshtebah\n");
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/************** 11 *************/

#tinclude<stdio.h>
void main()

{

char x;

scanf("%c", &x);

1f(X== a II X=="e II X== 1 II X== II X=="UU
w2 || xemE' [ xe='T [[ xe='0" || xes'U
printf("harfe seda dar\n");
else
if(x >= 'a' & x <= 'z" || x >= 'A' && x <= 'Z'")

printf("harfe bi seda\n");
else
if(x>= '0' && x <= '9")
printf("ragham\n");
else
printf("sayer");

/************** 12 *************/

#tinclude<stdio.h>
##tinclude<math.h>
void main()

{
double a, b, c, delta, x1, x2;

scanf("%1f %1f %1f", &a, &b, &c);

delta =b *b - 4 * a * c;
if(delta > 0)

{

x1 = (-b + sqrt(delta))/(2*a);

x2 = (-b - sqrt(delta))/(2*a);

printf("2ta rishe darad: x = %g , %g\n", x1, x2);
}
else

if(delta == 9)
{
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x1 =-b/ (2 * a);

printf("yek rishe darad: x = %g\n", x1);
}
else

printf("rishe nadarad\n");

/************** 13 *************/

#include<stdio.h>
void main()
{
int i;
for(i = 1; i <= 100; i++)
printf("%d\n", i);

/************** 14 *************/

#include<stdio.h>
void main()
{
int i;
for(i = 100; i <= 999; i++)
printf("%d\n", 1i);

/************** 15 *************/

#include<stdio.h>
void main()
{
int i;
for(i = 101; i <= 999; i += 2)
printf("%d\n", i);

/************** 16 *************/

#tinclude<stdio.h>
void main()

{

int i;
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for(i = 100; i <= 999; i += 2)
printf("%d\n", 1i);

/************** 17 *************/

#include<stdio.h>
void main()
{
int i;
for(i =999; i > 100; i -= 2)
printf("%d\n", 1i);

/************** 18 *************/

#include<stdio.h>
void main()
{
int i;
for(i = 1000; i <= 9999; i++)
if(i %7 ==088& 1% 3 !=0)
printf("%d\n", 1i);

/************** 19 *************/

#include<stdio.h>
void main()
{
int i, x;
scanf("%d", &x);
for(i = 1; i <= x; i++)
printf("%d\n", 1i);

/************** 20 *************/

#include<stdio.h>
void main()
{
int i, x;
scanf("%d", &x);
for(i = 1; i <= x; i++)
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if(x % i == 0)
printf("%d\n", 1i);

/************** 21 *************/

#include<stdio.h>
void main()
{
int i, x, n = 0;
scanf("%d", &x);
for(i = 1; i <= x; i++)
if(x % i == 9)
n++;

printf("%d\n", n);

/************** 22 *************/

#include<stdio.h>
void main()
{
int i, x, n = 0;
scanf("%d", &x);
for(i = 1; i <= x; i++)
if(x % i == 9)
n++;

if(n == 2)

printf("avval ast\n");
else

printf("avval nist\n");

/************** 23 *************/

#include<stdio.h>
void main()
{
int i, x, y;
scanf("%d %d", &x, &y);
for(i = 1; i <= x; i++)
if(x %1i==08& vy % 1 == 0)
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printf("%d\n", 1i);

/************** 24 *************/

#tinclude<stdio.h>
void main()

{
int i, x, y;
scanf("%d %d", &x, &y);
for(i = x; i > 09; i--)
if(x %1i==08& y % 1 == 0)
break;

printf("%d\n", 1i);

/************** 25 *************/

#tinclude<stdio.h>
void main()

{
int i, x, y;
scanf("%d %d", &x, &y);
for(i =x; i%y !=0; i += x)

I

printf("%d\n", 1i);

/************** 26 *************/

#include<stdio.h>
void main()
{
int i, x;
scanf("%d", &x);
for(i = 9; x > 9; i++)
X /= 10;

printf("%d\n", 1i);
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/************** 27 *************/

#tinclude<stdio.h>
void main()

{
int i, x, m = 9;
scanf("%d", &x);
for(i = 9; x > Q; i++)
{
m+= X % 10;
X /= 10;

printf("%d\n", m);

/************** 28 *************/

#tinclude<stdio.h>
void main()

{
double x, m = 0;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);

m += X;

printf("%g\n", m);

/************** 29 *************/

#tinclude<stdio.h>
void main()
{
double x, m = 1;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
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m *= x;

printf("%g\n", m);

/************** 30 *************/

#include<stdio.h>
void main()

{
double x, m = 0;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);

m += X;

printf("%g\n", m / 100);

/************** 31 *************/

#include<stdio.h>
void main()

{

double x;
int i, n = 0;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x > 0)
n++;
}

printf("%d\n", n);

/************** 32 *************/
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#tinclude<stdio.h>
void main()

{
double x, m = 0;
int i;

for(i = 9; 1 < 100; i++)

{
scanf("%1f", &x);

if(x > 0)
m += X;

printf("%g\n", m);

/************** 33 *************/

#tinclude<stdio.h>
void main()

{
double x, ml1 = 6, m2 = 0;
int i, n1 = 9, n2 = 9;

for(i = 9; 1 < 100; i++)

{
scanf("%1f", &x);
if(x > 0)
{
ml += Xx;
nl++;
}
else
{
m2 += Xx;
n2++;
}
}

printf("%g\n%g\n", m1 / nl, m2 / n2);

/************** 34 *************/
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#include<stdio.h>

void main()

{
int x, i, f = 1;
scanf("%d", &x);
for(i = 1; i <= x; i++)

f *= i

printf("%d\n", f);

/************** 35 *************/

#tinclude<stdio.h>
void main()

{
double x, m = 0;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x > m)
m = X;
}

printf("%g\n", m);

/************** 36 *************/

#tinclude<stdio.h>
void main()

{
double x, m = 20;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x < m)
m = X;
}

printf("%g\n", m);
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/************** 37 *************/

#include<stdio.h>
void main()

{
double x, m = 0;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x < 12 && x > m)
m = X;
}

printf("%g\n", m);

/************** 38 *************/

#include<stdio.h>
void main()

{
double x, m = 0;
int i, n = 0;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x > 15)
{
m += X;
n++;
}
}

printf("%g\n", m / n);

/************** 39 *************/
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#tinclude<stdio.h>
void main()

{

double x, ml1 = 6, m2 = 0;
int i;

for(i = 9; i < 100; i++)

{
scanf("%1f", &x);
if(x >= ml)
{
m2 = ml;
ml = Xx;
}
else
if(x >= m2)
m2 = Xx;
}

printf("%g\n", m2);

/************** 40 *************/

#tinclude<stdio.h>
void main()

{

double m = 9;
int i;

for(i = 1; i <= 1000; i++)
m+= 1.0 / i;

printf("%g\n", m);

/************** 41 *************/

#tinclude<stdio.h>
void main()

{

double m = 9;
int i;
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for(i = 1; i <= 1000; i++)
if(i % 2 == 1)
m+= 1.0 / i;
else
m-=1.0/ i;

printf("%g\n", m);

[RExREdkRkkRkkk* 4] paveshe digar **¥kxkkk/
#tinclude<stdio.h>
void main()

{
double m = 0, a = 1;
int i;
for(i = 1; i <= 1000; i++, a = -a)
m+=a / i;
printf("%g\n", m);
}

/************** 42 *************/

#tinclude<stdio.h>
void main()

{
double m = 1;

int i;

for(i =1; i < 100; i += 2)
m*= i/ (i+ 1.0);

printf("%g\n", m);

/************** 43 *************/

#tinclude<stdio.h>
void main()

{
double m = 0;
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int i;

for(i =1; i < 100; i += 2)
m+=1i* (i +1.0) / (i +1+ 1.09);

printf("%g\n", m);

/************** 44 *************/

#tinclude<stdio.h>
void main()

{

double t =1, m =06, a = 1.0;
int i;

for(i = 2; t >= le-4; i++)

{
t *= 1.0 / i;
m+=a * t;
a = -a;

}

printf("%.4f\n", m);

/************** 45 *************/

#tinclude<stdio.h>
void main()

{

double x, t =1, m =0, a = 1.0;
int i;

scanf("%1f", &x);

for(i =1; t / i >= 1le-4; i++)

t *= x5
m+=a * t / i;
a = -aj;
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printf("%.4f\n", m);

/************** 46 *************/

#tinclude<stdio.h>
##tinclude<math.h>
void main()

{
double x, t =1, m = 0;
int i;

scanf("%1f", &x);

for(i = 1; fabs(t) >= le-4; i++)
{

t *= x / i;
m+= t;

printf("%.4f\n", m);

/************** 47 *************/

#tinclude<stdio.h>
void main()

{
double x, t =1, m =0, a = -1;
int i;

scanf("%1f", &x);
m=1t = x;

for(i = 2; t >= le-4; i += 2)

{
t*=x*x/ (@1 * (1+1));
m+=a * t;
a = -a;

}

printf("%.4f\n", m);
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/************** 48 *************/

#include<stdio.h>
void main()
{
int i, n = 0;
double x;
scanf("%d", &n);
for(i = 9; 1 < n; i++)

{
scanf("%1f", &x);
if(x > 10 & & x < 15)
n++;
}

printf("%d\n", n);

/************** 49 *************/

#tinclude<stdio.h>
void main()

{
int n;
double x, m = 0;

for(n = @; ; n++)

{
scanf("%1f", &x);
if(x < 0)
break;
m += X;
}

printf("%g\n", m / n);

/************** 50 *************/

#tinclude<stdio.h>
void main()

{

double x, m = 1;
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int n, i;
scanf("%1f %d", &x, &n);

for(i = 9; i < n; i++)
m *= x;

printf("%g\n", m);

/************** 51 *************/

#include<stdio.h>
void main()
{
int i, y, d;
for(i = 10; i <= 99; i++)

{
y =1 % 10;
d =1/ 10;
if(i % (y + d) == 0)
printf("%d\n", 1i);
}

/************** 52 *************/

#tinclude<stdio.h>
void main()

{

int x, y, m = 0;

scanf("%d", &x);

y = X;

for(; y > 0; y /= 10)
m=m?*10 + y % 10;

printf("%d\n", x * m);

/************** 53 *************/
##include<stdio.h>
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void main()

{

int n, i;
double a =1, b = 5, c;
scanf("%d", &n);

if(n == 1)
printf("%g\n", a);
else
if(n == 2)
printf("%g\n", b);
else
{
for(i = 2; 1 < n; i++)
{
c=(a+b)/ 2;
a = b;
b =c;
}

printf("%g\n", c);

/************** 54 *************/

#include<stdio.h>
void main()

{

int a, b, c;

scanf("%d %d", &a, &b);

while(b > @)

{
c=a%b;
a = b;
b =c;

}

printf("%d\n", a);

/************** 55 *************/

#tinclude<stdio.h>
void main()

{
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int n, i;
double x, sumx = @, sumx2 = 0, v;

scanf("%d", &n);

for(i = 9; 1 < n; i++)

{
scanf("%1f", &x);
sumx += X;
sumx2 += X * x;

}

v =sumx2 / n - (sumx / n) * (sumx / n);
printf("%g\n", v);

/************** 56 *************/

#tinclude<stdio.h>
void main()

{
int X, b, d = 1) y = e;
scanf("%d %d", &x, &b);

for(; x > 9; x /= b)

{
y += (x % b ) * d;
d *= 10;

printf("%d\n", y);

/************** 57 *************/

#tinclude<stdio.h>
void main()

{

int i, j;

for(i = 1; i <= 10; i++)

{
for(j = 1; j <= 10; j++)
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printf("%4d", i * j);

printf("\n\n");

/************** 58 *************/

#include<stdio.h>
void main()

{

int i, j;

for(i = 20; i > @; i--)

{
for(j = 9; j < i; j++)
printf("*");
printf("\n");
}

/************** 59 *************/

#include<stdio.h>
void main()

{

int i, j;

for(i = 20; i >= 9; i--)

{
for(j = @; j < i; j++)
printf(" ");
pPintf(“**************\nn);
}

/************** 60 *************/

#include<stdio.h>
void main()

{
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int i, j;

for(i = 1; i <= 20; i++)

{
for(j = 9; j < 20; j++)
printf(" ");
for(j = 9; j < i; j++)
printf("*");
printf("\n");
}

/************** 61 *************/

#tinclude<stdio.h>
void main()

{

int i, j, s;

for(i =20, s = 1; i >=0; i--, s += 2)

{
for(j = 0; j < 1i; j++)
printf(" ");

for(j = 9; j < s; j++)
printf("*");

printf("\n");

/************** 62 *************/

#tinclude<stdio.h>
void main()

{

int i, j, n;

1000; i <= 9999; i++)

for(i

{

n = 0;
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for(j = 1; j <= i; j++)
if(i % j == 0)
n++;

if(n == 2)
printf("%d\n", 1i);

/************** 63 *************/

#tinclude<stdio.h>
void main()

{

int x, i, p;
scanf("%d", &x);

for(i = 2; i <= x; i++)

{
for(p = 0; x % i == @; p++)
X /= 1i;
if(p > 0)
printf("%d ~ %d\n", i, p);
}

/************** 64 *************/

#tinclude<stdio.h>
void main()
{
double x[50];
int i;

for(i = 9; i < 50; i++)
scanf("%1f", &x[i]);

for(i = 49; i >= @; i--)
printf("%g\n", x[i]);



Feo dmio— (o2xS) ow OUj U puwsi 40l 0 S Yl digai

/************** 65 *************/

#tinclude<stdio.h>
void main()

{
double x[50];

int i, n = 0;

for(i = 9; i < 50; i++)
scanf("%1f", &x[i]);

for(i = 9; i < 50; i++)
if(x[i] < x[49])
n++;

printf("%d\n", n);

/************** 66 *************/

#tinclude<stdio.h>
void main()

{
double x[50], m = @, a, d;
int i, n = 0;

for(i = 9; i < 50; i++)

{
scanf("%1f", &x[i]);
m += x[i];
}
a=m/ 50;
for(i = 9; i < 50; i++)
{
d = x[i] - a;
if(d < 0)
d = -d;
if(d <= 1)
n++;



F amio — (o 2xS) w DU 4 (puwsi 40l py 0 S CYljws digas

printf("%d\n", n);

/************** 67 *************/

#tinclude<stdio.h>
void main()

{
double x[50], m = @, d;
int i, n = 0;

for(i = 9; i < 50; i++)

{
scanf("%1f", &x[i]);
if(x[i] > m)
m = x[i];
}
d =20 - mj
for(i = 9; i < 50; i++)
{
x[i] += d;
printf("%g\n", x[i]);
}

/************** 68 *************/

#tinclude<stdio.h>
void main()

{
double x[50], m = @, a, d, adm = 9, ad;
int i, n = 0;

for(i = 9; i < 50; i++)

{
scanf("%1f", &x[i]);
m += x[i];
}
a=m/ 50;
for(i = 9; i < 50; i++)
{

Q.
]

x[i] - a;
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if(d < 0)
d = -d;

ad = adm / 50;
printf("%g\n", ad);

#include<stdio.h>

void main()

{
double x[50] = {0}, a, mx;
int n[50] = {0}, i, nf = @, maxf = @, j;
for(i = 9; i < 50; i++)

¢ scanf("%1f", &a);
for(j = 9; j < nf; j++)
%f(X[j] == a)
n[j]++;
break;
}
if(j == nf)
{
x[nf] = a;
n[nfl++;
nf++;
}
}

for(i = 9; i < 50; i++)
if(n[i] > maxf)
{
maxf = n;
mx = x[1i];

printf("%g\n", mx);
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/************** 70 *************/

void main()

{
double x[50], a;
int i, nf = 0, j;
for(i = 9; i < 15; i++)
{
scanf("%1f", &a);
for(j = 9; j < nf; j++)
if(x[]j] == a)
break;
if(j == nf)
{
x[nf] = a;
nf ++;
}
}
for(i = 9; i < nf; i++)
printf("%g\n", x[i]);
}

/************** 71 *************/

#tinclude<stdio.h>
void main()

{
int a[50] = {0};
int x, 1i;
scanf("%d", &x);

for(i = 9; x > 9; i++)

{
a[i] = x % 2;
X /= 2;

for(i = 49; a[i] == 0 && i >= 0; i--)

3
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for(; 1 >= 9; i--)
printf("%d", a[i]);

printf("\n");

/************** 72 *************/

#tinclude<stdio.h>
void main()

{
int a[50];
int x, i, j;

scanf("%d", &x);

for(i = 9; x > 9; i++)

{
a[i] = x % 1e;
x /= 10;

}

i--;

for(j = 0; j < i; j++, i--)
if(a[i] !'= a[j])

break;
if(j >= 1)
printf("motagharen ast\n");

else
printf("motagharen nist\n");

/************** 73 *************/

#include<stdio.h>
void main()
{

int i, j;

double x[50], t;

for(i = 9; i < 50; i++)
scanf("%1f", &x[i]);
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for(i =49; i > 9; i--)
for(j = 0; j < i; j++)
if(x[3] > x[J + 1])

{
t = x[jl;
x[3] = x[3 + 1];
x[j + 1] = t;

}

for(i = 9; i < 50; i++)
printf("%g\n", x[i]);

/************** 74 *************/

#include<stdio.h>
void main()

{
int i, j;
double x[50], t;

for(i = 9; i < 50; i++)
scanf("%1f", &x[i]);

for(i =49; i > 9; i--)
for(j = 0; j < 1i; j++)
if(x[j] > x[j+1])

{
t = x[3];
x[3] = x[J+1];
x[j+1] = t;

}

printf("%g\n", x[25]);

/************** 75 *************/

#include<stdio.h>
void main()
{
double x[1000];
int i, n;
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scanf("°d“ &n);

for(i = 3, i <= n; i++)
x[i] = (x[i-1] + x[i-2]) / 2;

printf("%g\n", x[n]);

/************** 76 *************/

#include<stdio.h>
void main()
{
int a[50] = {0};
int x, b, i;
scanf("%d %d", &x, &b);

for(i = 9; x > 9; i++)
{
a[i]

U 1]

i
x /

for(i = 49; a[i] == 0 && i >= 0; i--)

.
I

for(; 1 >= 9; i--)
printf("%d", a[i]);

printf("\n");

/************** 77 *************/

#include<stdio.h>
#include<string.h>
void main()
{
char p[20];
int i, n1 = 9, n2 = 9, n3 = 0;
for(i = 9; i < 50; i++)
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scanf("%s", p);
if(strcmp(p, "ali") == @)
nl++;

if(strlen(p) == 6)
n2++;

if(p[e] == 'k")
n3++;

}
printf("%d\n%d\n%d\n", nl, n2, n3);

/************** 78 *************/

#include<stdio.h>
#include<string.h>
void main()
{
char p[20], t[20];
int i, n = 0;
for(i = 9; i < 50; i++)

{
scanf("%s", p);
if(strlen(p) > n)
{
n=strlen(p);
strcpy(t, p);
}
}

printf("%s\n", t);

/************** 79 *************/

#include<stdio.h>
void main()
{
char p[20];
int i;
scanf("%s", p);
for(i=0; p[i]!=NULL; i++)

I
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printf("%c\n", p[i-1]);

/************** 79’ raveshe digar ********/
#include<stdio.h>
#include<string.h>
void main()
{
char p[20];
int i;
scanf("%s", p);
printf("%c\n", p[strlen(p) - 1]);

/************** 80 *************/

#tinclude<stdio.h>
void main()

{
char p[20], c;

int i, n=0;
scanf("%s %c", p, &c);
for(i=0; p[i] != NULL; i++)
if(p[i] == c)
n++;

printf("%d\n", n);

/************** 81 *************/

#include<stdio.h>
void main()
{
char p[20];
int i;
scanf("%s", p);
for(i = @; p[i+1] != NULL; i++)

I

for(; i»=@; i--)
printf("%c", p[i]);
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printf("\n");

/************** 82 *************/

#include<stdio.h>
void main()
{

char p[20];

int i;

scanf("%s", p);

for(i = @; p[i] != NULL; i++)

if(p[i] !'= 'a' && p[i] != 'e' && p[i] != 'i' &&
p[i] != 'o' && p[i] != 'y")
printf("%c", p[i]);

printf("\n");

/************** 83 *************/

#include<stdio.h>
void main()
{
char p[20], q[20];
int i, j = 0;
scanf("%s", p);
for(i = @; p[i] != NULL; i++)

if(p[i] != 'a' && p[i] != 'e' && p[i] != 'i' &&
{ p[i] !'= 'o' && p[i] != 'y")

q[3l = plil;

J++;
}

aljl = NULL;

/************** 84 *************/
##include<stdio.h>

#include<string.h>
void main()
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{
char p[20];
int n = 0, i, has;
for(;;)
{
scanf("%s", p);
if(strcmp(p, "finish") == 0)
break;
has = 0;
for(i = @; p[i] != NULL; i++)
if(p[i] >= '@' && p[i] <= '9")
{
has = 1;
break;
}
if(has == 1)
n++;
}
printf("%d\n", n);
}

#tinclude<stdio.h>
void main()

{
double x[3][4], m = ©;
int i, j;
for(i = 9; i < 3; i++)
for(j = 0; j < 4; j++)
{
scanf("%1f", &x[i][j]);

m += x[1][]];

printf("%g\n", m);

for(i = 9; i < 3; i++)

{
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for(j = 0; j < 4; j++)
printf("%6f", x[i]1[jl);

printf("\n");

/************** 86 *************/

#include<stdio.h>
void main()
{

double x[3][4];

int i, j;

for(i = 9; i < 3; i++)

for(j = 0; j < 4; j++)
scanf("%1f", &[i][j]);

for(i = 9; 1 < 3; i++)

{
for(j = 0; j < 4; j++)
printf("%6f", x[j][i]);
printf("\n");
}

/************** 87 *************/

#include<stdio.h>

void main()

{
double x[10][10], a = 0, b = 1, c;
int n, i, j, d = 0, e = 0;

scanf("%d", &n);

for(i = 9; i < n; i++)
for(j = ©; j < n; j++)
{
scanf("%1f", &x[i][j]);
if(x[i][j]<e)
e++;
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c = x[e][e];

for(i = 9; 1 < n; i++)

{
a += x[i][e];
b *= x[n-1][4;
if(x[i][1i] > <)
c = x[1][i];
if(x[i][n-1-i] == @)
d++;
}

printf("%g\n%g\n%g\n%d\n%d\n", a, b, c, d, e);

#tinclude<stdio.h>

void main()

{
double a[10][10], b[10][10], c[10][10] = {0};
int i, j, k, m, n, p;

scanf("%d %d %d", &m, &n, &p);

for(i = 9; i < m; i++)
for(j = ©; j < n; j++)
scanf("%1f", &a[i][j]);

for(i = 9; i < n; i++)
for(j = 0; j < p; j++)
scanf("%1f", &bI[i][j]);

for(i = 9; 1 < m; i++)
for(j = @5 J < p; J++)
for(k = 9; k < n; k++)
c[i][j] += a[i][k] * b[k][j];
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for(i = 9; 1 < m; i++)

{
for(j = @5 j < p; j++)
printf("%6f", c[j][i]);
printf("\n");
}

#include<stdio.h>
void main()
{
int x[29][3], i, j, n1 =0, n2 =0, n4 = 0, n5 = 0, n7 = 9;
int maxg = @, maxm = 9, m;
for(i = 9; i < 29; i++)
{
m=0;
printf("tedade tala, noghre va boronze sale %d ra vared kon:

1360 + i);

for(j = 0; j < 3; j++)

{
scanf("%1f", &[i][j]);
m += x[1][]];

}

nl += m;

n2 += x[i][@];

if(x[i][@] * 3 + x[i][1] * 2 + x[i][2] > 1)
n7++;

if(m > maxm)

{
maxm = m;
nd = i + 1360;

}

if(x[i][@] > maxg)

{

maxg x[i][e];
n5 = i + 1360;

printf("--------- answer (1) ----- \n");
printf("%d", nl);
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printf("--------- answer (2) ----- \n");
printf("%d", n2);

printf("--------- answer (3) ----- \n");
for(i = 9; i < 29; i++)
if(x[i][e] + x[i][1] + x[i][2] == @)
printf("%d\n", 1360 + i);

printf("--------- answer (4) ----- \n");

printf("--------- answer (5) ----- \n");

printf("--------- answer (6) ----- \n");
for(i = 9; i < 29; i++)
printf("sal %d: poan=%d\n",
1360 + i, x[i][e] * 3 + x[i][1] * 2 + x[i][2]);

printf("--------- answer (7) ----- \n");
printf("%d", n7);

/************** 90 *************/

#include<stdio.h>
#include<string.h>
void main()
{
char p[50][20];
int i;
for(i = 9; i < 50; i++)
scanf("%s", p[i]);

for(i = 9; i < 50; i++)
if(p[i][@] == p[strlen(p[i]) - 1])
printf("%s\n", p[i]);

/************** 91 *************/
##include<stdio.h>
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#include<string.h>
void main()
{
char p[50][20], t[20];
int i, j;
for(i = 9; i < 50; i++)
scanf("%s", p[i]);

for(i =49; i > 9; i--)
for(j = 0; j < 1i; j++)
if(stremp(p[jl, p[J + 1]) > @)

{
strcpy(t, p[3l);
strcpy(p[jl, p[J + 11);
, strcpy(p[j + 1], t);

for(i = 9; i < 50; i++)
printf("%s\n", p[i]);



